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Topic:- Child Development & Pedagogy (CDP)

1) Material for later retrieval is stored in the . | diq Cd| gﬂ'ﬂﬁ & ﬁl’E I B
H Juda foar wirar 21

1. Long term memory / CRERINED Fﬂﬁl
2. Short term memory / HWT%IT:F Wﬁf

3. Rote memory / hoR Wﬁl
4. Sensory memory / Hdat wfe

Correct Answer :-

e Long term memory / ALEAINCY F{ﬁ

2) Which of the following is a technique used to address stuttering?/ A J F-d Udh
TH-1P 8 TIPT SUUTT gH AN (FH-FF HY diaq) P Tad B3 P fore far wrar 22

1. Prolonged Speech / ¢+ HIHUT

2. Purposeful Speech / B%'QU{UT IR
3. Practical Speech / HTagTRe HTYUT
4. Delayed Speech / ICEIEGRIELI

Correct Answer :-

« Prolonged Speech / ¢TIl HIYUT

3) The enrichment of environment and experience in the early years of life will enable to
develop ./ Sftaq & YRS aul § qrararvr 3R sgHa & Igfs o1 fawr
H H A BN

1. innate potentialities / STHSITd &HT
2. problems / WTE{



3. heredity / ST TRrepdT
4. intelligence / Tg'@
Correct Answer :-

« innate potentialities / STHSITd &HT

4) Achievement in school is most closely related to ./ e # Suafsr I
a9 31w frpedr & Jafta 3|

1. The attitude of parents / Ard-fUar & gdelR

2. The conduct of students / BT BT TERU]

3. The interaction of peer group /ﬂTzﬁ qHe CAEIREIR!

4. The quality of teachers / fR&f®] &1 NUCK]

Correct Answer :-

+ The quality of teachers / fRrerent Bt BUCHII

5) Constructivism does NOT acknowledge the value of knowledge that is: / ﬁ'ﬂfmilﬁaf'q@ﬂﬁ
eR T8 Far g <t e 8:

1. Personal / W

2. Subjective / HGTIRD
3. Universal/ RIGHIEED
4. Individual / SfeITd

Correct Answer :-

e Universal/ Wéﬂ-ﬁ'&la;

6) The fear of strangers the children develop, is because of . / SSATIE) &7 YT St 9=

R g, & PRUTGAT B

1. Operant conditioning / fohaTURId UTIH e (SHTTRE HSIIHM)

2. Sign learning / Fobd TETH

3. Classical conditioning / FRRUFATSd e (el e =i
4. Insight learning / SAEI® SHTEATH

Correct Answer :-

o Classical conditioning / frufafd EIRCISE] (TS HoIRT)



7) The inherent abilities of the child should be while designing the curriculum. / YT H

fEoTe o3 Oy 99 &t SR et Y =iRu

1. Considered / &I H @A
2. Discarded / F®Td %‘—lT

3. Separated / ST HRAT

4. Ignored / TSR 3{GTS DA

Correct Answer :-

« Considered / &I H &

8) According to Erikson, role confusion occurs if the is not established. / W% SR,

afe_ wifaEglar g dt Y § yA g g
1. Intimacy / 3T

2. Initiative / Ugcl

3. Industry / GRS

4. Identity / UgdId

Correct Answer :-

o Identity / Ugdl+d

9) has developed a socio cultural approach to cognitive development. / Gl

USRI ¥ e U arfe-aipfae eibeiu Reha fFar g
1. Jerome Bruner / SR §R

2. Kolb / led

3. Jean Piaget / S foaTSl

4. Lev Vygotsky / INE a@ﬂ?@"r
Correct Answer :-

o Lev Vygotsky / fora El]?ﬂ'ﬁ?\‘ilﬂ

10) Child development refers to: / dT¢T I A= 9 "dfta %:
1. Quantitative changes only / HId HEATHS URdc

2. Qualitative changes only / dad IUMTcHD PIRCRE]

3. Qualitative changes corresponding to quantitative changes/ {[UITHd tlﬁﬂ?h, =TS aRad-l &
FIFURA T
4. Qualitative changes independent of quantitative changes/ J[UITH® tlﬁa?h, AR aRad- 3 wWad % |



Correct Answer :-

 Qualitative changes corresponding to quantitative changes/ [UITH® tlﬁ'a?f:[, TS aRad-l &
IEU T &

11) What is the most heavily associated characteristic of bipolar disorder among children? /gl |

B ardl Ry ReR @R fEwiis) @ aad o) fRvar @ 82
1. Being hyperactive. / 3fa<iishd gHT|

2. Being sad often. / 3R I&T BHT|

3. Extreme mood changes./ 8 H 3f® dgamd gl

4. Having exciting behavior./ NEIELY AdgIR hRAT|

Correct Answer :-

« Extreme mood changes./ & o YD dgard g

12) What type of theories acknowledge the contribution of both experience and genetics in

%evelopment?/mwaﬂﬁ?ﬂﬁ,mﬁﬁlﬂwaﬁ?&mﬁﬁﬁﬁ%qﬁwaﬁm
?

1. Interactionist theories / 3d:fharare] Rigid
2. Nature theories / Q@_ﬁf Rygid

3. Deterministic theories / Fafdarg Rigia

4. Nurture theories / OTA-I0T Rigid

Correct Answer :-

« Interactionist theories / 3{d: g é' I%I@ia

13) What type of intelligence is involved in overall success in living according to Sternberg? / TeAa

F IR, Tg-Te (forfdm) & W awear § frw wor #) gigar i aidt 32
1. Logical-mathematical intelligence / M-I g@tﬁ—ﬂ

2. Componential intelligence / ¥[d §@Iﬁﬂ

3. General intelligence / HTHI §@TIT‘IT
4. Practical intelligence / TAGTR® FfeGHTT

Correct Answer :-

« Practical intelligence / TAGIR® §feGHTT



What term refers to the biological development of an individual? / it safea & Sifee e & ferg
T Teg FEAATS [T STl 82

1. Learning / SfeFTH
2. Maturity / GRU&ar
3. Maturation / URU&dT

4. Aging / 3Tgqfa

Correct Answer :-

« Maturation / GRUT

15) What term denotes the negative and positive evaluations an individual makes about the self? /
for<ft ufet gRT U & IR ¥ fU U TR 3R GPRTAS edied P {69 g A fFAefua
fran?

1. Self-esteem / SHTH-THTT
2. Self-efficacy / -THTIR TR
3. Self-centeredness / W—a.?_sﬁzlﬂ'[

4. Self involvement / ﬁ—ﬂ?“—llli d

Correct Answer :-

o Self-esteem / HTH-HHTT

16) Which psychologist carried out an experiment of classical conditioning involving a little boy

called Albert? / {5 ARIATIN® 7 3read ATHS TP BIC TP B AU B §T AT I
(FATRIP S B8 IR TR TP YT fpar?

1. B.F. Skinner / &, T, RepR

2. E.L. Thorndike / 3. Td. UTHS3%
3. Ivan Pavlov / 39 Urad@id

4. John Watson / Sii9 @ieg-

Correct Answer :-

« John Watson / Sil9 @feq

17) Which part of the sensory register captures visual aspects of the environment? / T} Yore &1

PI-91 fewar yatazur & =29 ugqsil #) $=R Ha18?
1. Iconic memory / gfafga Fjﬁ
2. Echoic memory / o1 Fﬂﬁl



3. Visuospatial sketchpad / A7 deeh Waus

4, Visual store / 29 U8

Correct Answer :-

 Iconic memory /ufafgd @jﬁ‘f

18) Which of the following is a reason for a student seeking counselling/ afe TP ST WRTARE AdT %,
@ sueT Ffofed & 9 w1 SR g 82

1. Career indecisions/ URIRTd 3AHY
2. Sensible/ YHIAGIR

3. Strong/ II\_SW,_\?F[
4. Superior/ g

Correct Answer :-

« Career indecisions/ ORI SRTHEY

19) Which of the following is not a technique to aid the storage of information in long term memory?

/ FPrafafad # Q F19-0 Sdeifeae Wfa 3 Guar & YsRor & Jeradr $31 @1 ae-1e T8l 872
1. Elaboration / fa&R
2. Rehearsal/ﬁ%ﬁﬁ

3. Chunking / 9fdhT

4. Mnemonics / §fd-fasm=

Correct Answer :-
« Chunking / dfdT

20) Which of the following statement would be true in case of an extrovert person?/ aﬁﬁ@ fad

& A # FafifeEd § & o1H-91 53 98 grm?
1. Social situations drain their energy./ graTfore uRfRUfaaT S9e! Sl & JATE HR Sal ?fl
2. They gain energy from social situations./ 3 o fRufaal @ Sort U v B

3. They gain energy from within. / 37! 3{aR ¥ 3l U BIait gl

4. They prefer working alone./ q 3 PHTH FHRAT UG HIA & |

Correct Answer :-

» They gain energy from social situations./ 3 wmoTes fRufaat § ol U vd %I



21) Which of the following statements is true regarding algorithms?/ TANNYH & Jay o

frafafad d A FH-aT FYT I8 2

1. An algorithm is a set of steps to follow intended to solve a specific problem. / U@ LERE3] U fafRry
FH] ) 56 B P I Y SN B3 & foTT =il b1 b Tog 2|

2. An algorithm is a rule of thumb that gives some guidance on how to do a task but does not guarantee a

solution consistently./ me %mm%ﬁwmﬁwéﬁaﬁﬁwm
3T § Afp AR Ty ) TR Tt e g

3. An algorithm’s success is independent of the sequence of steps followed during its execution./ Tdh

TEIRYA BT HAT SHP WG P GRM ST T TRUN & 3IehH ¥ Wad g

4. An algorithm is a rule of thumb that gives some guidance on how to do a task & guarantees a solution
every time./ TEMRYA T& syaRig Fom g o fd o1d &) a3 & e @ AnfeRiH 3d1 § SR s aR
FHTYH BT RS T B

Correct Answer :-

» An algorithm is a set of steps to follow intended to solve a specific problem. / U& 1ESE] U fafRry
TR P 8 B & IET F TRV B & fo1g TRON &1 Ueh g ¢ |

22) Who used the term Deviation Intelligence Quotient? RCEGE! §'@ Iudsydr (SfauxH sefemic
Fdle) Treg BT YT forem far?

1. Alfred Binet / 3/@h farc

2. Lewis Terman / Tﬁﬂ?ﬁ:{

3. David Wechsler / Sfa€ deR
4. William Stern / faferas w4

Correct Answer :-

« David Wechsler / SfdS a&eR

23) How does academic curricula subtly promote gender discrimination? / &IEFIE'&IEF

urausHH, T WeHTa &) $4 derar a1 22

1. Very little mention of achievements by females compared to achievements by male. /Wﬁ

Jor1 1 Aigarsil &t Iudfedl &1 dgd HH Ieeid HH|

2. Unethical grading amongst males and female students. /ﬂ'\“ﬁ ﬁ?ﬂ%ﬁﬁ%ﬁﬂﬂ 3fde
pIsull

3. Focusing mathematics and science courses only to male students / Had goy E9I>I\I.$1%I'Q
T SR fas Ureasd WR dhiad HRATl

4. Unequal funding towards male education compared to female education /rri%?ﬂ&r&rrﬁ

Jor 1 & gy fRram o gl SRgam Mo |

Correct Answer :-



« Very little mention of achievements by females compared to achievements by male. /Wﬁ

T ® Afgaredi i IUiidl &l dgd HH Iewd B

24) CANCELLED
One of the symptoms of dyspraxia is: / fSTIRIAT & @&oN & A Th &
1. Problem in understanding spellings / T ﬂﬂ%ﬁ o e

2. Problem in doing mathematical calculations / TIOTCHY T0MT A H THE

3. Problem in holding a pen and writing / T h¢cfH W 3R forem & gue

4. Problem in the accent of a language / HIYT & TR H GH]

Correct Answer :-
o Problem in holding a pen and writing / Y hcTH W GﬁT ﬁi@ﬁ ﬁ SR

25) Children having phonological core deficits suffer from ./ BIaoTed HIR HH a1d g2
9 fifd gid g1

1. Dyslexia / fewaifaaan

2. Dyscalculia / m
3. Dystopia / f&weiftan

4. Dysnomia / e

Correct Answer :-

« Dyslexia / f&xifaaar

26) A father expects all his children, aged 4, 6 and 12 to learn the same subjects together. This would be

in violation of which principle of development? / T fUar 3T 4,6 3R 12 af &Y m%mﬂaa‘r@f
SHiie ol & i 3 ve w1y waH fawg W1 95 faea & fara Risia &1@sa ghme

1. There are individual rates of development / fIpT BT 3IETT- 3T &3 m Epk_‘ﬁ %I

2. Development proceeds from simple to complex / [T TR I SIfead B 3R 3 Eﬁfcﬂ%l
3. Development depends on maturation and learning / famr, uRaear 3R 3 W AR Far %I

4. Development is a continuous process / fawra ue Tad Ui %I

Correct Answer :-

» Development depends on maturation and learning / faemr, uRgear 3R 3 W Ak Bar %I



Intelligence is something that grows and develops through a series of stages. There are both
qualitative and quantitative differences between the thinking of young children versus older children.

Who put forward this theory? / gfSH=T Geforeiv) T Uit ufthan @ ot w3 srawaif @ ma?mm
et 3R fawla gt 31 81 a= a9 73 a=a 3t Wi & S U iR AT gl SR 8 139
Rrsia ot fewa wfaurfea fear?

1. B.F Skinner / &, T, fp R
2. Howard Gardner / Eﬁ_sc MR
3. Jean Piaget/Gﬁ:[ﬁR?ﬂ@[

4. John Dewey /GI'\IJ:T§_5F

Correct Answer :-

+ Jean Piaget / SiH it

28) The infant is able to move about, especially because of the growth of ./ ICELESVE:]

_ & faora & sror Ry afoxia 89 9 aw 21

1. Motor areas only / Bdd HIeR &3 (HATex TRA)

2. Neither sensory nor motor areas / -1 dl e 3R -1 g1 fraTeTss &5
3. Sensory areas only / ad Taal & (FIR Tl

4. Sensory and motor areas / Gdc! 3R foraTc® & gHI

Correct Answer :-

 Sensory and motor areas / Tac 3R forarates & gt

29) can cause deficiency diseases that adversely affect the growth and development of

childre%n / , Ft B AR BT FRUT 99 THd1 8 o gal Bt gl 3R fad R wfaga uva
STeran 2|

1. Mental Illness / AT SHRY
2. Anemia/ YddTeUdT

3. Malnutrition/ W

4. Clinical Depression/ FeFE 3T

Correct Answer :-

+ Malnutrition/ W

30) attribution assigns the cause of behavior to the internal characteristics of a

person%./ ORI (TfesgR) foredt safda &1 siiafve fa=ivarsii & sragR &1 FRUr
qarar g1

1. Dispositional /aﬁ'ﬂa( EWIIEQIHG)




2. Situational / TRUfAS=
3. Environmental /EI'CI'TETUT

4. Cultural / ik icdh
Correct Answer :-

» Dispositional | Sard (%Tchm

Topic:- General Hindi (L1GH)

1) IRHA YT UH BT, Hd AS! IeHh |
g ¥ fiee 71 gy, firet it uft s
few et 7= 3t T, w4 8t 3
g ifEag @i 9e, aife T ag s

TS 91 |9 99, 99 919 99 [

ewa qafE e, wa wa s

4 Y& oTa U 3 @y fora faa srama|
3afY 751 FH 8, s1a et s
e fAe wufa fam, o = foufa wsm)
fog it < stawr 1, A% ¥fa 9 s
ST UL $I UgH A TS WH 9T YA BT IR Ja1s¢l
= ‘gafe AfEy & wr arerd 82

1. T A PIS T8l

2. Teht &l Eiea §

3. SI1 ! RIS et o arelf § it &
4. TAH D1 SIS ¢

Correct Answer :-

. sl @) RS B ar arel § ot 3
2) U 4T UH P, U diS! Gepral
g § fpr =1 ey, frdt oifss wft s
Iew= et w4 9 fQyn, w4 8 @) M|
g fSaR divr wg, aife T Ak

Td 91 99 99, 99 919 99 [

Iew gafe Hfea, o wa srarai



4 Y& oTa U 3t @y fora faa srama|

iy 95T B 8, sTa et s

Mew= e Tufy fam, @t = faufa gl

fog it < st 1, A% ¥ 9 s

ST Ui $I Ugh A TS WA 9T YA BT IR Ja1s¢l
= g urht st wrers @, AfE S 9% sarr &1 T ard 22
1. IfS ATETE G Y, < HHd o1 gy Hft 6T &= e |

2. 3 A B Tl

3. & Sl ) ST R |

4. 971 919 & $© T8 SaaT g |

Correct Answer :-

. IS ITeTe Y@ WY, Y v bt gt Tt s urr |

3) IRHA YT A &1, °d diSt dehp|
g & fpr =1 firet, frat oivs uft s
Ifew= et w4 9 fQun, w4 8 @) M|
g fSaR o wg, sife T AR B
Td 91 |9 99, 99 919 99 [

Iewm gafg Hife, va wa s

o & oTa U 3 @y fora faa srama|
el ISTS B §, SWIA U= Sl
e e ufa fam, o = fufa |sm)
&g it < stawr 1, 1% A 9 s=Emn
STd U F UgHR AR IR WH ard U= $T Sk ga1s¢|
U= '3y SST5’ | T Al 82

1. AT T ST

2. TTH AP gt

3. §s AN &I &1d

4. g ! fq=Irerar

Correct Answer :-

. TG DI fq=mrerar



4) 3T 4RI YW &1, A ASt P M|

ge & v =11 firqy, fra s ot s

fewa frer 7= 9t fay, 7= 8 3 Th

g AT @i e, aife 7 R Sr

& 919 99 9, 99 919 99 9|

IR gafd i, va wa s

yf< T8 oI U 1 g fora fia srama

el I9TS B §, ST fUama s

Iewe fAe <ufa fam, @ = fufa Tsm)

g urit <4t waw #Y, AfE e 9F F=mn

ST TR $I UgH A TR WA aTdt YA BT IR Ja1sCl
T: ‘ge | fbr A1 frat, firet wite uft wirar 3 «an aread 82
1. 3T I B Tl

2. T IR R=T1 ge TH WR b 9 =781 g1 arat

3. IS Toigd e ald

4. Tie 1 oiTg R ged §

Correct Answer :-

. TH IR =T ge I W R aar =1 g uren

5) IR YR VW FT, G ASt b M|
g A fibe 71 ey, foret oits uft s
fewa frer 7= 3t fay, w4 8t 3
g sifedg @ g, dife 7 a8 S|
oo 91 |9 94, 99 919 99 [
wa afe e, wa wo s
4fY I oI o 3t ay fora foaa srama
ISy TSTS DI 8, STd faema S
Ifew= A Tufa fa, <t 7 fyufa "gm)
fog ot < saw 1, A1 <9 9% s
Ied Ui &I UgHR A YD WF ard U= BT IR Ia1s|
wH: \3ifeae” &1 Tt 3 T ghar 82
1. I9Yard <=1

2. B IUBH AT



3. hdd Hellh IS

4. A ISAMT

Correct Answer :-

. ITYad oAl

6) fPHA YT UH ST, 7 diS! TePM|
g2 A fie =1 gy, firet it uft s
3w et 7= 3t fau, w4 8t 3ra
g fSa @ we, sife 7 a2 wr
o 91 |9 99, 99 919 99 [

ewa qafE e, wa wa s

o Y& oTa U 3 @y fora faa sram|
el TSTS B §, TG (U Sl
few= fAe ufa fam, o = foufa wsm)
fog it < st 1, A% ¥ 9 s
ST UL HI UgH A TS W 9T YA BT IR Ja1s¢l
U: “GCHI’ g BT AT 344 g2

1. dChT P

2. HCh] X

3. SCR R

4. THT IR

Correct Answer :-

o PP

7) IRHA YT UH &1, 9d dIst deh|
g q fpr =1 ey, frat oifs wft s
3w et 7= 3t 3y, w4 &t & T
g fSaR divr wg, sife T AR s
TS 91 |9 99, 99 919 99 [

IR gafd e, va wa smmn
4T Y& oTa U 3 @y fora faa srama|
&l ISTS B §, TG U= Sl



fewe e wufa fam, o = foufa |sm)

fog ot < st 1, A% a9 s=mn

SWT U F UgHR AR IR H ard U= $T Sk ga1s¢|

TRH: 30 B Bt YT ORI A $g W SAPT HAER ST gl o1l 82

1. T[T Uhe A &l

2. gTIdl B3 BT
3. GIY A P

4. UGG P S8 IUGTH H1

Correct Answer :-

- TGS B T8 SUGT I

8) IR YN UH &1, 7 dIS! AeHI|

ge A fise =11 frey, fret wite uft s

Ifeu= foer w9 91 farn, w91 € 3@ My

g AT @i e, ife 7 R wr

Td 91 99 99, 99 919 99 [

IR gafd i, va wa s

4fsy 30 v Uw 3t aY fora foaa sram

el ISTS B §, TG fUma Sl

Iewe foe <ufa fam, @ = fufa asm)

fog urht <o srawt 1, fE <fa 9 s=m

SUT U F UgHR AR IR WH ard U= $T Sk ga1sy|
T: W9 IS URT Y-ufy 71 gielt Y, TRT o1 vl 72
1. Iugad o

2. Had HA HIC Ad &

3. FIA g HIS A &

4. HIA IUET PR §

Correct Answer :-

» IUYad ol

9) IFUT YN AN &1, 7d dIS! AcHI|
ge A fise =11 fray, fret wite uft s



fewa frer 7= 9t fay, w4 g 3

g 3ifEag @i w4, 9ife 9 ag S|

TS WY W9 9, 99 919 99 9|

IR gafd dife, va wa s

4fY I oI Ue 3t ay fora foaa srama
Il I3TS B §, ST fUaema s
Ifew= A Tufa faq, <t 7 faufa "gm)
fog ot < sraw 1, A1 <9 9% s=Emn
IUYed U $I USH AR YD §F ard U= BT IR Id13|
W FIT L 3R 9 o &t e g2
1. TR A P T

2. QI WIS §

3.4 TH Bl e

4. T8, S-S §

Correct Answer :-

- AHITH A E

10) AT YT VA F1, A NS TcHM|

g A fie 71 fray, foret it uft s

e et v &5t fyr, 71 € et

g sifedg @ e, dife 7 a8 S|l

o 91 |9 94, 99 919 99 [

gwa afE e, wa wa s

o< TE oTa U 3 @y fora faa sramg|

3l 95T B 8, sTa et s

Ifew= A Tufa fa, <t 7 fyufa "gm|

fog urit S st Y, A% ¥ 9 s

ST UL $I Ugh 1 TS WA 9T YA BT IR Ja1s¢l
H: Ffa 3 Sa et s’ for wgd & we1 82

1. Iugad ol

2. T% & fhIR BIhR AN WY XEd §; had 39 UgH A
3. YHE 1 U THGH 81T §; Had 39 Je A

4. FHg 1 UM gHa1 H PIs o1 Uid; ot 58 daH #




Correct Answer :-
. ITYad <Al

11) IFHA YT U BT, 7 AS! TP |

g A fibe =1 ey, foret oits uft s

fewa frer 7= 3t fay, w4 8 3

g ifEag v ug, 9ife T ag S

o 91 99 94, 99 919 99 [

wa afe Hife, ga v s

4fY I8 oI e 3t ay fora foaa srama

IS TSTS DI ¢, STd fema S

Ifew= A Tufa fa, <t 7 faufa "gm)

o urit <o srawt 1, fE <fa 9 T=m

Ied Ui $I UgH A YD WF ard U= BT IR Ia1s|
U: TH & AU A G S Y 1T 32

1. S99 PIs T8

2. G TA G byl B

3. 99 eI Y U1 8

4. Ueh BTH ) IR B J arep! Y 3T 81 Sfrefn 8

Correct Answer :-

. TS BM B R B Q a1t Hf 3T 81 el 8

12) AT YT VA F1, A NS TcH M|
g ¥ fie =1 ey, foret oits ufy s
e et v &t T, 71 € et
g ifEag v ue, 9ife T ag s

T 91 |9 94, 99 919 99 [
Igwa afE Hife, wa wa s
U< Y& oTa U 3 @y fora faa sramg|
3afY 95T B 8, sTa et s
Ifew= A Tufa fa, <t 7 fYufa "gm)
fog it o st 1, A% ¥ 9 s
ST UL $I Ugh 1 TS WA 9T YA BT IR Ja1s¢l



WH: U BT 3919’ & T HaY ST T 82
1. ST UM U

2. &I BIbR U1 G

3. TRH U G

4. QI YT GIAT

Correct Answer :-

. J GIHR U g

13) A YT U BT, 7 AIS! TP |

ge A fibe 711 iy, foret oits ufy s

fewa frer 7= 9t fayr, w4 8 3

g 3ifEag & w4, 9ife 9 ag s

TS 919 99 99, 99 919 99 99|

R gafd dife, va wa s

4fY 380 oI e ot @y fora foara srama

el I3T8 B §, ST fUama s

Ifew= A Tufa faq, <t 7 fyufa "gm)

fag urht it srart @Y, A <R 9% =

I U $I UgH R YD WF ard U= BT IR Id13|
W WH BT YN ged W Ugd 3t Uitd i =81 g1 uran?
1. TR AP T

2. i ITH 76 TS SNl & |

3. IUH R 3T ST &

4. 8 Be ST 3 |

Correct Answer :-

- Hifer I9H Tifs TS el B

14) IFHF 4T VW B, 9 AIS! TEH M|
g2 A fie =1 fray, foret oits uft s
few= frer 7= 3t fay, w4 8 3
g ifEag v 9, 9ife T ag S|

T 1Y 99 I, 99 I 99 S|



ewa afE e, wa wa srami

4 & 9T U 3 @y fora faa sram|

3afY 95T B 8, STa e s

Ifew= A Tufa fa=, <t 7 fyufa "gm|

forg urft <t steret Y, AfE < wF =

ST UL $I Ugh 1 TS WA 9T YA BT IR Ja1s¢l
U: TG A AR B (UST UF oI I U= RN 8T 32
1. BIES W A H Al fiem &) GHIa-T B g1

2. B & B ofd I W @ gt ], fawna wier & oia § 7T |
3. BIIS § UMl e gan 2

4, BIIS BT Sl Y= g1 gidl|

Correct Answer :-

. BIFS & B o 9 | I gl 8, fae gHeR & o/ 9 g

15) A YT YA P71, A Al IepM|

ge & fpr =1 firat, frat wivs uft s

Iew= et w4 9 fun, w4 8 3@ M|

g ifSag @ e, §ife 7 a2 wr

TS 91 |9 99, 99 919 99 [

Iewm gafg e, va wa s

4T Y& oTa U 3 @y fora faaa srama|

Iefy I3T€ P19 2, wa R wmi

few= A= wufa fam, o = foufa |sm)

fog it i stawr 1, 1% a9 s

ST U F UgHR AR IR H ard U= $T Sk ga1s¢|
U TH SUAT gW GERI | Fl G Uhe BT A2
1. Iudad qaft

2. AT IS T A9 IS /|

3. I g@ DIS Tg] Sicdl g

4. P P DI U g@ R TS ST o

Correct Answer :-

« S Tl



16) et BT Wi IeHfa® e SR fge o1 U@ a1 3foerT 361 71 3eoit & T aXW% al 9geIpa gouat
IS FT T AT At gkt R $© fewl & 8 Bie-8i¢ I A1 IAITdt adt & ueg o gedt 9 widl §
deT g3 ATl 398 A Uw; Tifsiar-fisnte R fdt gerfera wemiar &1 = o1 3wy ifear &
Fsaatt AraTSg & Ao § o1, wem YR 99 & 2§ SR gfaht um We & Sieta et & frmor | o
ZTfOrg HTHT BT B3 TP WY 3 9 ) a9 Uram o1 3R 59 HIWT & F5 & 3R WY U=y 3|
1830 ¥ P A AT AT A v IHY gerferaT TURTS $Y WY1 & fore Ue aferr s915 | |fdp 1831
3R 1848 F fasie) Y favpaar & a1 o gwa! RrAeRt wiféfar suie ik s9d wwe e sa=gua
oo wr o 13 <ft1 39 &7 & IS I B A T A7 b 3l F uHtwor @ enffe fapry dsht [ ghm

gl & fafiT & 3 T A F srigaT @1 Aars e Fav A @1 A | 98 A1 ) HIS HifaeR dr AT
P13 Yoi® Aafw| a8 o) 3edt & 39 4 3R ue o at & @ o1 o) Jem st B 39 i
geIfra A W11 Ha UTHT IR HeRd ft ITA Wi A TP Feifas Teau fHar v sufere 1850 H aifean
Pt AT DI g | SIS 81 T I ASTS T T & a1 & SAATd], F3 IR Wqaaaay = ot umr fern
T foraY SrTaTs RISAY eIt H% T8T AT 1860 & AT U A I gférr seeht ik g Rreht & Isa 9t 3Rk
¢ 99| I8 R i &1 aud= sfta forar ok fib W= Ire)  3@Ts Be # SvaE 8 U
1861 ¥ fdae? sAgUa (&g #Y ve quy seel &1 e it forar a1 Af% seelt & 3mH o= &1 Ue 954
TST YT 39 SSRATGITFATd! fraryrT & fepea smfig uni T wmag S thefl 88 off¥tan & sror um)
foresr & w1y &1 fwfor it s @ g€ Pifa & SR 5T gon Ul 97 98 @ o SR Had o arel
TfohaT & BT §3HT AT

ITYR TR B USRI T U= o1 Ik qa1su|

UY: geol & fafHa &1 &1 T B & SAigia 3t SRS fha ot A
1. faeer T fgdia A

2. foraqy A+ A

3. A HaR A
4. fopat = 1

Correct Answer :-

. GEIHA FaRA

17) seelt o1 Ht IeHfa® SrerTTa 3R fIue #1 U daT 3iae™ 381 81 STl H TP R df IgIISH geuat
ATy BT AT AT ot g 3R $o Rl A 3 o1e-81e Ty 4| INwd Wl & wen # geeht qra wial A
deT g3 YT I8 | Uh; wifSfar-fUsule W fadl gerferam Iorafvar &1 2mae 311 3w Ut Siffear &
Tt araTsy & fFraFer A o1, wem YRt 99 & e # SR gféft ur W & el et & frsor &
ZATA YT BT B TP WY 3 dF 81 997 UrT 4T 3R 59 YT & &5 91 3R g U=y |
1830 % W A Frsdq AR 7 e THY 3eIfRIG TURTST &1 RTTT & QT Ter 9915 | Afdpt 1831
3R 1848 F fasiel &) fAwaar & a1 9@ su«! R Wffar fusHie ik 39 e fAger AU
fafra w= 3 715 N1 39 &3 & AP T B T T AT fF gl F vHiHur A snfde fawr st A ghmi

gecl & A &3 91 T F3 & Siigiad B 3r[ars GerHslt dav A @1 A1 a5 1 9 HIS wifdert ar
PIg UATdIAD AfRT| 98 df Feot $ 37 U=t 3R ¢ ford & & @ o1 ot e et &1 39 oft
ST A STeT a UTHT IR HeRd 8t I Wi A TP FeAiad Teau fHar 3w sufere 1859 H siifeean
Pt BT BI G | SRIATE B TAT| IH ASTS | AT & SIdH1 & AA1aT, b I W@aaad! 3 W yrT femn
4T Rt 3R[aTE Reay Aared 2 78T 4TI 1860 F AT AL & 3 Sfaror geeht 3k ¢ Riweht & g 91 3k
9¢ 9d | S5 RITG frari o1 aud= sfta forar oiv fie W= Ire! #f Surs B | S g |
1861 ¥ fage gAgua (f&<fta) #) v T et &1 o i¥a fvar man dfed gedft & 3w o1 &1 U@ ggd
IST U 39 SSRATGI-TFaTd! frarurT & feper smfig uni T wmag S thefl 83 off¥tan & ST T
fore=1 % w1y &1 Fmior {5l sraee & g€ ®ifa & SRr 8 g9 YT 9 9% U @dt SR Wad da- arelt
UfohaT & BRI §3AT AT

I TR B UGHR 1 I T U= BT Ik qargu |



Uy Ifs Aar-fUsHie W fod Isafar &1 3= 912
1. fafewr
2. STHA

3. 3elferad
4. Tt

Correct Answer :-

18) et 1 Ht IeAfa® SrerTa 3R fge #1 T o 3faeT 381 31 STl § TP R df TgIIPH geuat
ATUTSY T AT 4Tt g8 3R PO Fwil # 3 B1e-B1¢ sy 41 IAwd ¥t & wey § gedt 9rd widl A
deT g3 YT I8 | Uh; wifsSfar-fisule w fadl serferam Iorafar &1 e 311 398 unT Siffear &
T AT & 0T | U1, 7 YR UY & 2 | 3R gferoft ui WA & et ot & Frmor | am
ZeTfera HTWT BT BIg TP W@y At 9 T8 a1 uran o7 3R 39 HTWT & &3 &ty o =ur+itg wsy &)
1830 & T H AT A A T A $TIRIGT TURTSY $1 RITGAT & Y Te o1 9915 | Afp 1831
3R 1848 ¥ fasie) &) fAwaar & a1g @ gu e wifdfHar fsute ol 39% e fager sA=gua
fadia w3 713 <ft1 3T &5 & 3P Tt B TR T AT fF 3T F uPtEeur I enffe fawr s | ghm

gedl & fafiT &= 3t T A F siigasT @t A e Fav 3 @1 | 98 AT a1 HIS HifaeRT 41 AT E
DI YSi® AfR| a8 af gedt & 39 4l 3R ue o @il & 9 o1 ot e st B 39 i
ZeTRa A W11 e UTHT IR HeRd Jt WA Wi A TP Feifad TeaeH fHar v sufere 1859 H aiifeean
P A1 B g A STHATE 81 T 3T qSTs A AT & SaTl & 14T, Py I Wadaa! 1 W yrr foran
T T SATaT FRIeAY TtaTeS! HX T8T UTI 1860 & HIE HEIA 3 feror geel 3R ¢ R & wsa 91 8k
¢ 99| S5 R i w1 aud= sfta forar oz fisr W= Ivre) #t s@Ts %a | S 8 Ul
1861 # fagex AgUa (&<fta) 3 vo quw st &1 o gifta far man afea st & oma o &1 uw 9ga
FST YT §9 SERATGI-FATd! fIaRYRT & fepa sAfHT o1 TAT g 39 Hel 3 SIS & RO ATl
forest ® 1y &1 Fmfor f6el sramee @ g€ ®ifa & SRUT 61 gon UTI §fcdp 98 U@ wall 3R Wad g arelt
UFohaT & BRI §3AT AT

IUYe TRIR Y UgH 19 IR T U= $T I« 9a13¢|

TY: TR & AIY Fedlt & T Pt SR[ATS DI DR IGT UT?
1. o300 et

2. Tfstan fusHie

3. g R

4. 019

Correct Answer :-

S EREERIN IS

19) et BT Wi IeHfa® e SR frge o1 U@ e 3foeri 361 71 3eoit T aRW% dl JgRIpd gouatt
HIATS &1 AT AT df gOdl 3R T fexdl # &% ole-0ic Iy ¥ IFAadl 9l & HAeg | gedl ard wial d
deT 5o ATl 38 A Uw; Tifsiar-fisnate wR st gerfera wemiar &1 = 411 3w um e &
TS AraTsd & AT | AT, gem YR Uiy & - # SR Sfeoft unt W & et et & Ao d o
ZTforgs HTHT BT B3 TP WY 3} 9 ) a9 Uram o7 3R 59 HIWT & P35 & 3R WY U=y 3|
1830 & o1 A 39T AR A T T 3eTforad TURTST &) RITIAT & 1T T i1 9413 | Afdp 1831



3R 1848 F fagiel @1 fAwaar & arg 3@ su@! AR AIfSfar fisdie 3R s9d AN faFe AU
fedta wr e 18 f1 3T &7 & AP 9t B T T AT P el F uptHr A anfder famry asht | ghmi

gl & fafiT & 3 T A F siigaT @t A G Fav 3 @1 A | 98 A1 ) HIS HifaeRT A1 AT
DI YSi® AfR| a8 af 3edt & 39 4 3R ue o @l & 9 o1 o) e 1wt B 39 i
geIfRra A W11 e UTHT IR HeRd Ft I¥A Wi A TP Feifad Teau fHar v sufere 1850 H aiifeean
Pt AT DI g | SIS g1 T I ASTS T T & a1 & SAATdl, F5 IR W@adaay = ft umr fern
T T SrTaTg oA TtaTeS! HX T@T UTI 1860 F HIE HEIA 3 fer0r geel! 3R ¢ R & Isa 91 8k
¢ 99| S5 R frar &1 aud= sfta forar ¢z fis W= Ivre) it 3@rs Ba & S 8 Ul
1861 # fae? shigua (Rdra) #) v Twa sl &1 e Nifd far war) Afpa seel & o & &1 U 954
FST HRT §H IERATGIITTATS FRARYRT & e sAfiT o1l AT 2mag 379 Helt g3 SfR1aT & SR AT
fore=r & w1y ®1 Frfor feft sramre @ g Pifa & SR TS g3 47| Sfcep T8 T <idll 3R weld der arett
WiohaT & HIRUT §3AT AT

ITYR TR Y USHR 1 I T U= o1 Ik qa1su|

THY: STl & THIDHROT I T doll & g D1 HHTIAT A2
1. Gikpide fasrg

2. 3 fawra

3. TSI fahTy

4. IR famr

Correct Answer :-

. e faem

20) Seoil &1 Wi IEAfA® 3eTIa 3R fae 31 T wa 3faeTd 367 81 $eoll § Us avW df SgRIpd goue
AT BT AT U7 df g6 3R 3o fowal # #3 B1e-B1¢ Wy 41 IAwd ¥ & vy § geedt 9rd widl A
deT g1 UTI I8 A UHh; WifSHar-fUstle W fadl gerferam Ieraiar &1 e 311 I Ut Siffedr &
Tsaat AraTSy & e § o1, wem YR 99 & e # SR gféft umt we & Sieta et & frmor &
ZTfOrg HTHT BT B3 TP WY 3 9 ) a7 UraT U7 3R 59 HIWT & Pg &y 3R WY U=y |
1830 & ¥ H Frsdq ARM 1 e THY 3IRRIG TURTSY $1 RITTAT & AT T Trer1 9915 | Afdp 1831
3R 1848 F fase) Y favpaar & a1 o swa! RrAeR wif$far suie ik 3% wwe e ga=gua
fedia w an w1g i1 39 &5 & IE T B T @ A7 fF s F uPptmeur I i fawr el | ghm

gl & fafiT & 3 T A F sricia @1 ars JerE Fav A @1 A | 98 A1 ) FIS wifaerRt ar AT
PIS Yoi® afwi| a8 o) 3ot & 39 4 3R ue o at & ¥ o1 et Jem 1wt & 39 i
ST A STeT %hd UTHT IR HeRd 8t I Wik A TP FeAtiad Teaus fhar v suferg 1859 ¥ siifeean
Pt BT BI G B SIIATE T TT| IH TSTS | AT & SIdH1 & A9, b I W@aaaad! 3 W YT feran
YT Y SrTaTg oA TtaTes! ®% T8T UTI 1860 & A HEIA # 3 fer0r gee! 3R ¢ R & Iwa 91 8k
¢ 99| I W frar &1 aud= sftq forar ok fib W= Ie)  3@Ts B # SiaE 8 U
1861 ® faaer sigua (f§dia) @ v Tuy gedl &1 v gt foran wan| afe= sedt & oma 99 &1 U@ 9gq
TST YT 39 SSRATGITFATd! fraryrT & e smfHg uni T wmag S teft 83 off¥tan & ST Um)
fore1 & w1y &1 Fmfor it s @ g€ Pifa & SR 8T goN UTl 97 98 U@ @ SR Had o arelt
UfohaT & BRI §3HT AT

IUY T T B UG 1 IR T U= P Sk qa13¢|
UY: geoll § T W fohaeT 2= Un?

1. TERTPT godar

2. SARBT BT

3. fore



4. STHAT BT

Correct Answer :-

« TGP ge

21) seeit 31 Wi AeHfa® SrerTa SR fge 1 U@ e 3foeT 381 71 Seoit § To aX% dl 9gRIpd gouat
ATHTE BT AFT YT @t gOl1 3R 50 fowdl A #3 BI-B1e Iy A1 IATd I & weg § geelt ard widi A
deT g1 UTI I8 W Uh; WifSHar-fUstle W fadl gerferam Ieruiar &1 e 311 I Ut Siffedr &
Touatf ATy & s ® o1, 7 YN g & 3§ SR e faroft wr WA F Sl wromait & fPrmor # an
ZTfOrg HTHT BT B3 TP WY 3 9 ) a7 Uram o1 3R 39 HIWT & Fs & 3R WY U=y 3|
1830 ¥ 3P A 3T AT A v IHY gerferaT TURTS $Y WY1 & fore Ue aerr /915 | |fdh 1831
3R 1848 & AN 3 Rwaar F a1 o 3u! e W Rsuie iR 39F I fawer si-gua
fadia = 3 718 <ft1 39 &1 & AP T B TR T AT fF 3Tl F uPtEvur J enfde faer Ao | ghm

gt & Al & 3 U B & Siiciad B SR[ars Gl dax A @1 At 98 A1 d HIS wifadt ar AT §t
P13 YSi® AfR| a8 o) geot & 39 4 3R ue o @t & @ o1 Rt e ot B 39 i
ST A SUTGT Tra HTHT IR HERd <t 394 16 A T Ge-ifa® Teau= fhar 3k safere 1859 & siffean
Pt AT DI g | SIS g1 T I ASTS T T & a1 & S(ATd], F5 IR W@adaay = ot umr fern
o1 ot 3TaTS FOISAT AaTeEt &% ¥8T UT1 1860 & AT HEH | T gfaor el 3k ¢ Relt & =g ot ok
¢ 99| S5 R frar &1 aud= sftq forar ok fis W= Ire) #t 3@Ts Ba ® SiaE 8 Ul
1861 B fawer sAgua (§da) #) ve Ty gect o1 3o 9ifta fear man i sedt & om 51 &1 U 9gd
TT YT 39 SSRATGI-TFATd! fraryrT & fepea smfig uni T wmag S ihefl 83 off¥an & wror U1
fore1 & w1y &1 frwfor it s @ g€ Pifa & RO 6T gon UTl 9 98 U@ «d SR Had g arel!
UfohaT & BIROT §3HT AT

SR TR B UGH -1 Y& T U= T Ik qa13¢
TY: ol PT A HRT fHad AR & Srefi °1?
1. fgeeR &

2. ARCATH

3. U0 &

4. AT &

Correct Answer :-

. &

22) sl &1 Wi IS 3eTa 3R fae 31 T waT 3faeTd 367 81 $eoll § Us aRW df SgRIpd goue
TSI HT T AT At gkt R $© fewdl & 3 Bid-8i¢ I A1 IAIadt adt & ueg o gedt 9 widl §
deT g3 4TI 398 A U; Tifsiar-fisnaie wR fdt gerfer wemiar &1 = 411 3wy iffear &
TS HruTsd F 0T & AT, gem YR Uiy & e # SR gfeoft unt W & deta st & S A o
ZTforgs HTHT BT B3 TP WY 3} 9 ) 997 Uram U7 3R 59 HIWT & Fg & 3R WY U=y 3|
1830 & 3 A AU ARTHT A TH GUY 3T TURTST $t RITYAT F 1T T aie-r 918 | afdp 1831
3R 1848 & fasie) & fawaar & a1g 3@ gu! PR Tifs~ar fisHie 3R 9% e fager sA-gua
fadta wR e 71g i1 39 & F AP T B T T AT 3ol & THIHur ¥ i faewry aeit & ghmi

gl & Il & 3 T A F siicia @1 Fars JerE Fav A @1 A | 98 A1 @) FIS wifaeR dr A
PIS Yoi® afei| a8 o) 3ot & 39 4 3R ue @ art & @ o1 et Jem 1wt B 39 i
ST A STeT %d UTHT IR HeRd 8t I Wik A TP FeAtad Teau fhar v suferg 1859 ¥ siifeean
Pt BT BI G | SIIATE B T I TSTS | AT & SIdH1 & A9, b I W@aaaad! 3 W YT feran
YT T SrTaTg oAt TtaTes) #% T8T UTI 1860 & AE HEIA # 3 fer0r gee! 3R ¢ Rl & wwa 91 8k



¢ Td | 3T RN fHam1 &1 Gqd= sid foram iR fier <1 Il &1 IWrs b+ # STHATT g1 MY
1861 ¥ fage sAgua (f&<fta) #) v I et &1 o Ni¥a fvan man | dfeq geft & omw o9 &1 U® 9gd
FST YT 9 SERAGI-NFArd! fIaRYRT & faepa sAfig o1 TuT g I8 Hefl g3 SIS & SR U7
forea & w1y @1 fwior it erame @ g€ Pifa & SR A8 gon U1l 97w 98 U@ @dt SR Had e ardl
UiohaT & BRI §3AT AT

ST TR B UghR 1 YD T U= P Ik qa13¢|

UY: STl Wl & e A geel fraq widl F fawufora ar
1.4

2. 919

3. a4

4. 41d

Correct Answer :-

23) et 31 Wi oA SrerTra SR fae 1 Ue der 3fae 38121 3eoit # To aRW% dl 9gRIgd gouatt
ATUTSY T AT 4Tt g&d 3R PO TRl d 33 B1e-B1¢ sy 41 IAwd ¥t & wey § gedt qrd widl A
deT g1 UT| I8 | Uh; wifSfar-fsule w fadl serfers Iorafar &1 2mae 311 398 unT Siffear &
Tt ArgTsy & FraFer § o1, wem YRt 99 & e # SR gféft unt W & el ot & o & o
ST YT BT BI5 TP Wy Nt a@ 8t a1 uran o1 SR 39 T & o3 aei SR RITIg U=y A
1830 & ¢ H AT AT A T WA $TIRIGT TURTSY $t RITGAT & Y & G 9915 | b 1831
3R 1848 F fasisl Y favpaar & a1 o swa! et wif$frar fswte ok 59 Ioae AT

fodta wr 13 <ft1 39 &7 & IS I B A T AT o geelt b TPptHor @ i famry dsht & ghm

gedl & Al & 3t T FA & Siictad B SRIETS @RIt dax A @1 At 98 71 df IS SifadRt ur A1 8t
P13 YSiAP Afei| a8 af gedt & 39 4l 3R ue o @l & @ o1 ot Jem 1wt A1 39 i
ZeIRa A W11 ha UTHT IR HeRd Jt I Wi A TP FeAifad Teae fHar v sufere 1859 ¥ aiifeean
Pt T BI T | SRIATE B TT| I ASTS | AT & a1 & AATaT, b3 I W@aaad! 3 W ynr femn
T oY SRTaTs FRISAY TiaTeE! H% TT AT 1860 & AT T H 9 gfér seadt ik g el & w9 9t 3R
¢ 9a | S5 RITG frar w1 aud= sfta forar oz fisr W= Ivre! t S@Ts B | e 8 Ul
1861 ® fager sigua (o) @ v Ty ged &1 v wifva forar wan| af% st & oma &9 &1 s Igq
FST YT §9 SERAGI-AFATd! FIaRYRT & faepa sAfig o1 T g I8 Hefl g3 SIS & SR A1
fores ® w1y &1 Fmfor f6ef samee @ g€ Pifa & SRUT 6T g9 UTI §fcdp 98 U@ wall 3R Wad I arelt
UfohaT & BT §3AT AT

IUYe TRIIR Y USHR 19 IR 7T U= $T I« 9a13¢|
Y: GO Fav 7 SATRTar &1 J1 B Hd g
1.1840 1
2.1859
3.1870 §

4.1875 9

Correct Answer :-

. 1859 H



24) gt o1 Wi IAfae SreTa 3R faue &1 e daT Sfaeri Y81 81 $edl # U aRW ol agIrpIg gsdai
ATUTSY T AT 4Tt g8 3R $o ewl # 33 B1e-B1¢ sy 41 IAwdt ¥t & vy § gedt Ird widl d
daT g3 AT 30 | Uw; TifSfar-fisdie wR f&dt serfer Ieufar &1 A or1 I YrT Siffeear &
Toua ATHTSY P 0T H AT, HeH HIT 1Y & ImEA A 3R gféroft 4T W & St Irensit & e | A
ZATA YT BT BIs TP WY 3 T 81 99 UrT 4T 3R 59 YT & &3 914 3R g U=y |
1830 & <P A Fr3AY AR A TH T SeIfera MURTST &1 WITYAT F fore vep aie=r 99181 afdp 1831
3N 1848 F fasIe) @1 fAwaar & a1g 3@ suo! g Iffrar fusHic 3k s9P e ez

fgdta o e g N1 3T &7 & AP I B T T AT P 3ol S uP D A nfde fawry asht & ghmi

gl & fafiT & & te A F sricia @1 ars e Fav A @1 A | 98 A1 @) FIS wifaer) ur AT
DI YSiA® Afed| 98 af Fedt & 39 4l 3R ue frd @l & @ o1 ot Jem 1wt 91 39 i
ZeTRa | STt ha UTHT IR HeRd 8t 3 Wi A TP FeAiad Teae fHar v sufere 1859 H Siifeean
Pt O BI G | SRIATE B TT| I ASTS | AT & SIdH1 & AATaT, b I Waaad! 3 W ynr femn
T oY SRTaTs RIS TiaTeE! HX TET AT 1860 & AT T H 9 gfér sedl ik g Rielt & =9 9t 3Rk
¢ 99| S5 RITG frar w1 auda sfta forar oix fisr W= Imre! t SETs e | a8 Ul
1861 ® fager sigua (g @ v Tuw gedl &1 o wifva forar wan| af%= seoft & oma &9 &1 s Igq
FST YT §9 SERAGI-FATd! fIaRYRT & faepa sAfig o1l TuT g I8 Hell g3 SIS & SR A1
forest # w1y &1 Fwfor f6 samee @ g Pifa & SRUT 6T g9 UTI 9fcdp 95 U@ wall 3R Wad g areit
UfohaT & BT §3AT AT

ST TR ) TP A1 I Y U BT S qarsyl
TY: GRIHA Fax Y geTioraT | Sife Hi-t Hrer et <Rt
1. WA

2. Sfier=r
3, STHA
4. %

Correct Answer :-

25) et 31 Wi oA SrerTa SR fge 1 U@ den 3faer 381 71 3eoit § T aRW% dl 9gRIpd gouat
TS T AT AT df gOdl 3R $© f3xdl # &% ole-0i Iy ¥ IA9dl 9l & Aeg | ged! ard wial d
deT 5o ATl 398 A Uw; Tifsfar-fsnate R et gerfera wemiar &1 = o1 3w um i &
T AraTsd & AT | AT, gem YRT Uiy & - # SR gfeoft unt W & St st & S d o
ZTforgs HTHT BT B8 TP WY 3} 9 ) a9 Uram o1 3R 59 HIWT & F3 & 3R WY U=y 3|
1830 & g1 A oY AR A T W1 3eTforad TURTST @) RITIAT & T T aier1 9413 | Afde 1831
3R 1848 F faie) Y favpaar & a1 o swa! et wiféfar Rsuie ok 3% Iwe T s=gua
fadta wR o 71g <Y1 39 & & AP T B A T AT 6 Feell & THIH0T § i fawy deit A gl

gl & fafiT &= 3 T A F siigaT @1 A G Fav 3 @1 A | 98 A1 ) HIS HifaeRT 41 AT
P13 Yi® AfRi| a8 o) geot & 39 4 3R ue o @l & 9 o1 o) e 1wt B 39 i
geIfRra A W11 e UTHT IR HeRd Ft I¥A Wi A TP Feifad Teau fHar v sufere 1850 H aiifeean
Pt AT DI X | SIS g1 T I ASTS W T & a1 & SATdl, F5 IR W@adaay = ft umr fern
T ot 3TaTS FOISAT AATEt HX ¥6T UT1 1860 & A AL | d gfa0r el 3R ¢ Ret & g ot ok
¢ 99| S5 R frar &1 aud= sfta forar oz fis W= Ivre) #t s@rs Ba ® e 8 Ul
1861 # fage? shigua (Rdra) ®) v qwa sl &1 e Nifd far man) Afs seel & o i &1 U agd
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3. U9 1860 H

4 R 1872
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. HTE 1860 H
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1) forg fAay & fdt ge, avqg Sryar T &1 9uiH gidT 8, 39 fod yoR &1 ey Fgd 71
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2. faaRTE® ey
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1. 7% {5 qd U U 1 IR 2|
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1. TG G
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3. 0T

4. Sl

Correct Answer :-

. HelGaMEIed!

34) U fagfty 1 ford AT @2

1. U HATAg U G ST

2. T ST S AR Ut § UebTHnd
3. AR UF & AUTGdH gRI HATad & HTABRT
4. T HYDRY GRT GIR YBRY Bl

Correct Answer :-

. U& ST Y THRR W 7 FHTRAETS

35) g & @ P-0 Ferh v e S A 22
1. TTet



2. ST 1 Tl
3. 9169
4. 3G

Correct Answer :-

36) o & I H-T1 ATed TARHR WIS gRT forfaa =18t 82
1. A

2. YL

3. Thed[w

4, UG ST

Correct Answer :-
o UGBTI
37) o # & S1-91 ATe® digd TP gRT fafea 16t 32
1. TR o Ioed
2. IS
3. 3118 3feR
4. 3{TNTG &1 U fa

Correct Answer :-

38) g & § arF e F Al T8 & -
1. gofdTen uSfa
2. FITHD UG
3. 3f&R Sy fafd

4. facgrars ugha

Correct Answer :-

. facgrTs ugha

39) g & @ i ot dielt ufed & undt & FY T8 32



1. 3fgeht
2. ghearoft
3. graail

4, Sl HINT

Correct Answer :-
. 3faei
40) frm ¥ A {59 TR 3 DMEE & YR Tl § 81 1 SI1ar 82
1. gdoid AUt fRrer
2. BRATRTY I
3. SORIAR TG
4. AgTGd! Al
Correct Answer :-
. BRIIRM =
41) g # A f5d Aree F =71 U= Rar-g= @2
1. TERI & oled
2. TGl Il
3. HIUMH
4. 39 R

Correct Answer :-

42) o o 3 A Sfegea srarurT &1 i & um omar 32
1. foerdt
2. ]yt

3. gI3(He
4. 3TAH

Correct Answer :-



43) HETHI AT YT Bt ARl T HH I FU 7?2
1. T A PIS a1

2. Had Qife®H

3. had fefad

4. fafad SR Aifa® gl

Correct Answer :-

. Had Hifd®

44) e ¥ A fram frarftaar & R waa faar g -
1. IRIad gt

2. ad f&dt

3. had bled

4. had HicH

Correct Answer :-

. JWidd gl

45) qrA®] B ARATH Faeh HIEATEGY BT U1 TMTHR IHSB gL B BT YUY DT @ -
1. Jedich+ fafe

2. fav=m fafy

3. SUARTHS fafey

4. TS fafdr

Correct Answer :-
. JUARTHD fafey
46) STEP] P HTYT WG § T SUYF qRAT T 2 -
1. faemer
2. gafaRTT
3. g
4. IRAR

Correct Answer :-

. TgfaRu



47) U UY S BT, AP o1 34 8 -
1. T S I & A1y |

2. T T TR AT HRA aral S |

3. fopeft @1 I 1 i & A1 &M

4. Q8 d1hd ¥ dgll HH|

Correct Answer :-

. T BRI gAY |

48) a1 ®) s@H & @ SFaTa 31 1> - e wlrs iR 22
1. HREGH

2. AR

3. godila™

4. {UI

Correct Answer :-

49) frafira &u & fredt yaT o JAHR T2 T UV B 72
1. Rleg

2. @9

3. 3

4. WS &1 gfaTdt TR

Correct Answer :-

o YV &1 FAgTEt W1
50) HgTcd! gH & BTl R fhy =i a1 AR YRT &1 UHTE AHT SITd1 82
1. Q9 <[ & 3MHgdIe &1
2. TiiefaTe & Sifggrarg &1

3. Sl ¥ & gl BT

4. 3T 3 P HifdwbdIg o

Correct Answer :-



. Sl a[ & gadIg &l

51) gl fawey gamt-

Teg THPR | gad 3R Ied A1 & =ui & fardf aa g1
1. 3

2. BTl

3. 9

4, HId

Correct Answer :-

o 3

3.7
4. Bl

Correct Answer :-

53) el fawed Farsd -

ot wifter, ot e RuaaiR@e iR mfEy. wgamrgl
1. HTATHD ey

2. f9aRTES ey

3. Ui ey

4. TR AT STAHTES ey

Correct Answer :-

A N ERI SICRICAREE|
54) fFafafay ifeml & s19-ar seeR 32
Y ST IHS 1, THb Y Hard |



Y HAGR Tl FARY AfE STerg 39re 11
1. ST Ul 3R

2. U 3ABR

3. gHD 3APR

4, TUDH ADR

Correct Answer :-

55) It &1 H1d fhelt T Ft vifas fAAwarsit &1 R A1 T8) 81 ISP B HQ-de
JUSR SHR AN ! geer ot Y 81 Tifew &1 ol af ags &Y iR siftre wrdig ok e ¥
fore Suaft =T 31 w9 el adia e # R o1 9t 3 99 vy # §i9ar Sy o1 araraRo
AT Bl ST g 3R VAT raT @ foF 39 331 T FHTS Ua B 3R o 35T € O 99 Bie auyg °
IR 8 SRS T HTd BT 31 T8 S AP DI Ufad g1 A T9= $I IR0N T 7| T Aifged
Pt 1ff e faRih walral &1 ver 78 @

Sudad ufiede HY ugHR 1 3T 7T vy %1 Ik faflw:

~aifgca s e fard vt &1 e 7Y dar 9 wan areud 82
1. g G BT U&f g1 ol

2. e AT &1 fRArd gl 5|

3. Hifew o Ugfal T oil el gl

4. e H7 Trg & UG a1 & |

Correct Answer :-

. e AT o1 fgarad gl 2|

56) ATlecd BT HTA fhelt I Ft vifaw fA=wansi &1 TR H1 181 81 STBT B A1-Ae
U IHT ANl BI gga ot A8 81 Tife @1 B Y ugw Y SR siftre wedi ok WU ¥
fore Suarht s 81 w9 fonelt wredia e # AR o1 St 3 99 Oy # i9ar Sy o1 ararare
T Y 91T @ SR VAT e @ % S S/ BT A Ua $i 3R o T @ O 39 $idT wug ®
e B SERIYP BT BT HIAT 3| 61 SH Y B Ufad §1 I g9 & IRUN gaT 3| =1 Aifewd
Fft off e faRY<h wgfrat o1 uer 7Y da

SUdE TRwSE P UgH - AT 1T Uy 371 Ik fafaw:
wifec fardlt 1y 1 ufera 819 @ B4 Famar o2

1. XY B FUC AR

2. <R B Hifdew fa=wdraf &1 orTH e

3. GHTS! & fod SUART S HR

4. BT S1Y P FTATERT (A0 Y



Correct Answer :-

« AN & oI ITART g9

57) ATl &1 B fHhedt I Ft vifaw fA=rwansii &1 R H0 181 81 STdT B A1
U IHT AN Bl gga ot A8 81 Tt @1 B Y ugw Y SR siftre wedi iR wu ¥
fore STaRht s 81 w9 fonelt e g # AR o7 St 3 99 Ay A i9ar Sy o1 ararare
T g ST B SR U1 T § 6 39 I BT quIS A $I SR 1 39T § O 39 B gHg ®
e B SERIUP BT BT $IAT 31 61 SH Y I Ufdd §1 I F9 & UM a1 3| =1 Aifewd
Fft off e faRY<h wgfrat o1 v 7Y da

SUdE R3S B UgH - AT 1T Uy 371 I« fafaw:
T TR 1 I 2w = 8t apar g2

1. AIfe b1 Y Jal

2. FIfe R Hifcih faisarg

3. e &1 ughml

4. g SR AFI

Correct Answer :-

. e iR AFdtTan

58) AT &1 Hd fhelt =1 Ft vifaw fa=twansii &1 TR =1 181 81 STBT B A=A
U B ANN Bt geaqr Hft T 81 Tifewy &1 Frd A agw +1 iR aifre ardt iR U &
fore SuaRft s 31 w9 fonelt e e # AR o1 S 3 99 Ay J a1 Sy o1 ararare
AT gl ST 8 3R VAT raT B foF 3 31 T U Ua B SR A 39T @ O 39 BfeT aug ®
It 8 SERNYUP T T4 BT ¢1 T8 SH AP DI Ufad g1 F TG+ $I IRON gl 7| T Afged
it it wra faRvR wafral o1 var =7 @

Iudad uR®e B Ugdr A AT 1T uy 1 I« fofa:
T TR & SR A1 BT H1d 1 82

1. Yifde faRrearsit &1 orTH S

2. IS FHI H Y D1 faRIY BT

3. TS B 3 AT ST

4. G- Jue= T

Correct Answer :-

« T & S AFET ST

59) TR &1 H1d fHhelt A1 Ft vifow fAwansit &1 R e 181 81 STdT B A=A
U B ANN BI geaqn ft T 81 Tifewy &1 Frd A ags ot iR ife ardt iR U &
fore SuaRht s 31 w9 fonelt i g # AR 7 S 3 99 Oy A a1 Sy S qrarare



T g1 STl 3 3R 0T T 8 {6 9 ST BT GHIS Ua i 3R ST 8T § af 39 Hfe+ qud o
IR 8 SEYP T T4 BT ¢1 T8I SH AP DI Ufad g1 F TG+ $I IRON a1 71 T Aifged
Fft off e faRYh wgfrat o1 uer 7Y da

Iudad ue B UgHr A AT 1T uy 1 I« fofa:

VG TR & TR it 1Y & 1T 3 W - g 22
1. 99 g ifaes fa=warsit &1 qorTH Har |

2. 919 Wifgcd SUCRI & T g |

3. 9§ HMd Hifed 1 8] Uga g

4. ST TS U BT 3R ST 2|

Correct Answer :-
. 9 U U BI 3R A1
60) g fafEa ufemal & w19 T 3= 82
T U d WIE W, AfF SRR g8 WIS |
o wg 9 fawa Ry, sraw vea faams 11
1. By &<
2. AT <
3.3 B
4. 9R3T B4

Correct Answer :-

. 38 g



